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18,000, 00024 *14} 18,000 0 18,000
O =& g& oS HUIBA  5,000,0002 14! 5,000 0 5,000
O =8 8% T257 242A
5,000, 000! *14} 5,000 0 5,000
O 28 ot CRET FUSA
30,000, 00021 * 141 30,000 0 30,000
O A= 847 T257 BUIZAM
18,000,0008 14! 18,000 0 8,000
O Ot BTt SOESR JHEHY SXBA
25,000, 00021 * 14! 25,000 0 25,000
O 24 85 T257 FUIZA
18,000, 0008 14! 18,000 0 8,000
O 2U =24 T257 YA
38,000, 00021 * 14! 38,000 0 38,000
O 32 ANE S2E7 FHIZA
60,000, 00021 * 14! 60,000 0 60,000
E=sNT 29 91,512 99,852 8,340
E=sie 29 91,512 99,852 8,340
201 Yer2 | 18,112 40,172 £22,060
01 A2 22l 7,512 39,572 £.22,060
O A72 MHHAY BSEHET Sl
23 8,820,000% 8,820 5,880 2,940
O HHEHM 3T =5 33 o 0 25,000 £25,000
202 04t 36,750 32,830 3,920
01 =LH ot bl 36,750 32,830 3,920
O A72 MHAY BSEH SZ0i
A3 11,760,008 1,760 7,840 3,920
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SN QEALD
M TRy a2
ool E24KY 29 EERED
SH B S(SH) - MPAY - B2 O 4t o4 Jl= e HRZ2
401 Al HIZ 201 Y| 29,400 19,600 9,800
03 Al 2 THHI 29,400 19,600 9,800
O £72 RHAY BSHHSAH = A
d & 29,400,000 29,400 19,600 9,800
Hees(erdA L) 213,516 212,051 1,465
RSN 2,181 716 1,465
ST HEtE 3 2,181 716 1,465
802 gH& = DI EF 2,181 716 1,465
02 Al - SHIZEXSEHES 2,113 648 1,465
O 2016 MEMBE |FANE2F=AE TH &A
1,150,000& 1,150 0 1,150
O 20169 =222 J| WXdAMY ZHl &H
315,000& 315 0 315

_23_




